## 4.1 Derivatives of Inverse Trigonometric Functions

Standard: MCD1e

[0]d] Implicit Differentiation & Chain Rule  
(1) 
$$\frac{d}{dx}[2x + \sin(2x^2) + 5] = 2 + \cos(2x^2) \cdot 4x]$$
  
 $= 2 + 4x\cos(2x^2)$   
(2)  $\frac{d}{dx}(x^4y + 4y^3 = 10x) = [x^4)(y^3) + (y)(4x^3) + (2y^2 \cdot y' = 10)$   
 $x^4y' + 4x^3y + (2y^2 \cdot y' = 10)$   
 $x^4y' + 12y^2 \cdot y' = 10 - 4x^3y$   
 $y'(x^4 + 12y^2) = 10 - 4x^3y$   
 $y' = 10 - 4x^3y$   
 $y' = 2(\cos(4x + 3)) = (\cos 4x + 3)^2$   
 $y' = 2(\cos(4x + 3)) \cdot (-\sin(4x + 3)) \cdot 4$   
 $= -8\cos(4x + 3)\sin(4x + 3)$ .





Derivatives of Inverse Trig Functions  $\frac{d}{dx} \sin^{-1} x = \frac{1}{\sqrt{1-x^2}}$  $\frac{d}{dx} \cos^{-1} x = \frac{-1}{\sqrt{1-x^2}}$ note: Chain Rule on the "x".  $\frac{d}{dx}$  tm<sup>-1</sup> x =  $\frac{1}{1+x^2}$ [Examples]  $(1) f(x) = 5 \ln^{-1} (x^{2})$  $f'(x) = \frac{1}{\sqrt{1 - (x^{2})^{2}}} \cdot 2x = \frac{2x}{\sqrt{1 - x^{4}}}$ (2)  $\frac{d}{dx} \operatorname{arcsin}(3x^2) = \frac{1}{\sqrt{1-(3x^2)^2}} \cdot \frac{9x}{\sqrt{1-(3x^2)^2}}$  $= \frac{9x}{\sqrt{1-9x^4}}$  $(3) \frac{d}{dx} a_{\rm WC} \cos\left(\frac{1}{x}\right) = \frac{-1}{\sqrt{1-(x')^2}} \cdot (-x^{-2})$ = 1 $\times^2 \sqrt{1 - x^{-2}}$ Homework page 170 ·1-7, 13,21,27, · Also denve the derivative of y= cos 'x.